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ES-EE slopes obtained from SimHits

Fitting by other method: cut the histrogram per 20 MIP and use gaussian fit. Fitting range is from (the location
of peak value -1) to 1.5 RMS

then fit the value of each bin's mean value by straight line fit to get slope.
for example:

one bin fitting:
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Then we get slope by getting each bin's mean valuse:
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https://twiki.cern.ch/twiki/bin/edit/Main/SimHits?topicparent=Main.ES-EECalibration;nowysiwyg=1
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¢ Energy Resolution

Energy resolution of each modes in different energy of eta=1.7

Energy of ES (MIP)

Energy resolution of each modes in different energy with eta = 2.0

w0.07 - —&— noES w0.07 - —&— noES
;u} E —&— no saturation ‘-u} £ —&— no saturation
T, E —¥— high gain - high gain %, E —¥— high gain - high gain
0.06 4— high gain - low gain 0.06— 4— high gain - low gain
C —m— low gain - low gain C —m— low gain - low gain
0.05— 0.05—
0.0 0.04
0.035 0.03—
0.02— 0.02—
0.01— 0.01— = =
0 | R I B n: Y O ISR P P
0 200 400 600 800 1000 0 200 400 600 800 1000

Energy of electron (GeV)

Results:

Energy of electron (GeV)



ES-EECalibration < Main < TWiki

Energy resolution of each modes in different energy with eta = 2.3 |

‘ Energy resolution of each modes in different energy with eta=2.5
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¢ Energy resolution of only 2nd plane (only add 2nd plane's energy back)

Energy resolution of in different energy of eta=1.7 ‘
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¢ Energy resolution of RecHits by Clustering

‘ Energy resolution of each modes in different energy with eta = 1.7 ‘

‘ Energy resolution of each modes in different energy with eta = 2.0
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e Reconstructed energy spectrum using clustering

Only use 2nd ES plane to recover the energy
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